Homework 5
COSE312, Spring 2025

Hakjoo Oh

Due: 5/28 23:59
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int 1i;

int [1000] a;

while (i < 1000) {

it++;

}

ali] /* bug */
}
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int i;

int [1000] a;

while (i < 1000) {



it++;
}
ali-1] = 1; /* safe */
}

2. olg] ZR T 2HIE2] ¢FOo B falseS HHEGH .
{

int 1i;
int[10] a;

while (0 <= i) {

i=1i-1;
}
print (i);
alil = 0; /* bug */
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{
int x;
int y;
int z;
int[10] a;

read(x);
read(y);
=2*y;

if (z == x) {
if (x >y + 10) {
alx] = 0; /* bug (e.g., x = 30, y = 15) */

}
}
}
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{

int x;
int y;
int[10] a;

read(x);
while (y < 100) { y++; }
if (x < 50) {
if (x> y) {
al[100] = 1; /* dead code: the bug cannot occur at runtime */

int 1i;
int[10] a;
while (1==1) {
int j;
read(j);
if (0 <= j) {
if (5 < 10) {
aljl = i;
}

lo
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int[10] a;
int i;
while (i < 10)
{
i=1i+1;
}
ifal = 0; /* type error */



int 1i;

int[10] a;

i=1;

print(a + i); /* type error */

{
int i;
int[10] a;
i=1;
if (a) { /* type error */
i=1;
}
b

7. division-by-zero 22 o:

{

int i;

int j;

i = 10;

j =5;

while (i > 0) {
i=1i-1;

}

print(i);

print(j / i);



